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32 + 15x - 20 =3[2 + Sx] - 20
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k = - Sy - 4

3y - y(5y - 4) = 6

3y +Syn + 4y = 6

Syz +2
- j = 0

(Sy - 3)(y + 2) = 0
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2) - (2 + 3x) - 12 -372- 3x +4x - 4

x2 + Sx + 80

(x + 4)(x +2)20
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For quadratic to have real woots :
62 - 44)30

= (k + S)2 - 4k(4)20

k2+ 10k+25 + 16k70

k2 + 2Sk+2520

(k + 2S)(k + 1)20
·

k1-2Sk2 - y



30x
- 5x2 - 6 +x20

5x2 - 31s + 57w

(Sx - 1)(x - 6730
x2'11 >6

For quadratic to have distinct , real roots

62 - 4aC70

= (4k(2 - 4(2k+1)(24- 1)

= 16k2 - 4/4h2 - 1)

= 16k2- 16k+ 4
= 4)0

.. distinct , real
roots .



kx2 + 3x(2k+ 1) + 4 = 47xx + 1

*x2 + 3x(1 - k) + y= 0

62-4410 if lines do not meet
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·
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